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10.

ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)
Define Economics.

What are the reasons for the exceptions of the demand
curve?

Differentiate normal price and market price.
What is a Joint Stock Company?

Mention any two sources of finance for the business
organization?

What is cost concept?

What is a Payback period?

Differentiate fixed and variable cost.

What do you mean by market skimming?

From the following details calculate the breakeven point.

Variable cost=Rs. 200 per unit, Selling price=Rs.250 per
unit and Fixed cost =Rs.50, 000.
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PART—B (5x16=80 marks)

Explain in detail.

(1) Microeconomics.

(ii) Macroeconomics.
Or

(i) Explain the factors governing the
Elasticity of Demand.

(ii) Discuss the significance of Elasticity of
Demand.

Explain the features of Perfect Competition
and how price output relationship is
determined in Perfect Competition?

Or

Discuss the various financial assistance
providled by the government and other
corporations for the business firm.

(i) Explain any Five Accounting Concepts.

(ii) Enumerate the Limitations of financial
statements.

Or
From the following balances and further

information, you are required to prepare fund
flow statement.
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Particulars 314 Mar 31" March —‘
2009 2009
(Rs in lakhs) | (Rs in lakhs) }
Fixed asset 7 8.7 i
Depreciation 25 3.6
Temporary 1 1.5
investments
Closing inventory 18.15 19
Debtors 13.15 13.87
Bank OD 116 5.5
Creditors 9.98 11.92
Vf:roposed Dividend | 1.6 2.4
Share capital 7.5 10
General Reserves 3.8
Profit and Loss 3.52 ) 4.85
Account
78 % Debentures 1
A Project involves an imtial outlay of (16)

Rs.30,00,000 and having maintenance cost of

Rs. 2,00,000 ,

Rs.2,50,000

Rs.3,00,000 ,

Rs.3,00,000 , Rs.4,00,000 for 1 through 5 years.
The salvage value at the end of the life of the
project is Rs.2, 00,000. How much is the net
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15. (a)

(b)

present value if the firm expects 15% per

annum?
Or
()  Explain price discrimination with (
example.
(i) Explain economic feasibility. (€
@) A firm has a contribution ration of 40% (:
and wants to earn an after tax profit of
Rs.54,000 and that the income tax rate is
40%. The firm's fixed charges are
Rs.1,00,000. Calculate the sales volume
to earn an after tax profit Rs.54,000.
(i) State the assumptions of Break Even (¢
Analysis.
Or
(i) Discuss the limitations of Break Even (¢
Analysis.
(i) Explain the following: [€
{a) P/V Ratio.
(b) Margin of Safety.
(¢) Contribution.
(d) Break Even Point
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